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1.C
5L
R BT A U TR ORGSR, CIR iR
3D

RN SO W B RE s K TFAE R S RE ST, N A AT
VLB A TTURE 5% 5 T AEAR T, 35 AR BE IR/ , AH B2 A
2B U BT BN CO(g)+2H,(g)=CH;0H(g)
AH=-91 kJ *mol™, # C TR ; AL, 1G4 REWN,
&k b T LR EEE 2R L, i D TER .

4.C

RN AL =—(AH+AIL) .

5.D

FeoR U CIL=CIL(g)+IL{(g) >CHCH;(g) ) AH>
0; AH <AH,; TEXEIEHSBRESA T AR AH[H] .

6.8

R (s MEAL R Rk s i 2, ANREUE AH K
7N NH B ATt s O ez s i, S 42 Wi B i WA 1Y)
HEEE/NT AR ICIE BB s B Y BE &

7.B

R B Ros B RE AR AL R TR RN, O

MIREREAALT; M@ 1 Hy(g), AR H0(1),

C TR s MRS S (D QAT D TR 1R

8.B

oA L BRSOV HEE S
PN, 2R a TR PR T RO TE LR o A BN AR E] 1Y
FHERAS, U a I AL TR O S i R 2R, HE A IE
B 5 B T, [T 1 7 W AR ot B T 2, b 00 B8 B TR
AR K, FE R IR EE N A A T TS AN A, R, LR TR
VT T AS At [ A b, BB #5125 C I, TIK# B pH
FE [] 1 R AR TR T2, TS TR %9 WL 7 UL, PP 7 v B 1,
W pH FE RN, T LA b FR/NEhTR , a FR/NEETR , T C 1E
B D 00, A [E) 400 o Y sV B2 Y NaOH IR AN 27K , i B
AR pH K1Y b 28 NaOH & ,a N —
D -7

9.C

RO SN | RSN RO 1L AR S, T A
D s S 1 iR (o, ) KT ROGE T KR (o, ), T B0
I i id fe R, ] B B . C LA

(BT REF)SEEE

TR, B AT

IKE RS, B

1.A

FE AR 1 kiR T I TR T 0 R 34 3.8 10% kJ, I
| keIZAL YIRS A1 000 ¢/884 g mol ', WIFHER T
o1 B Y PR B A =-3.8 x10" kJ/1 000 /884 ¢ *mol ' =

~3.4x10* kJ*mol ', BUIEA

2.D

R s HE ST TR TR, VAR A B AR IR HF
BIAH >0, ARNFFG U MTELEAT B HCIHI BERE K T HBr
R BE , BT LA G AHL EEHBe K, BT 457 25 5 ATTIH]

AT HCUW (AH+AH) SHIM A, CATT S8 E ; —

EFRM R AEFEFARL mol H-XE H o kITER , W%
FM N A =—a k] *mol ', DTSR .

I8 )it

3.D
AR :H0(g) A EERE RS s A 228 e T 5 A
BEERL CO )T A= 2 Bl AH <AH,.
4.B

PRI TR S AT B BN A B AN S, 4n
AIR RS — DAL, (HFR 2 AR, RUARY H AR
TLIRFNE KOs, THUNER A LR AT 5 5 CO
HHAGERETR T mol COTERRALE: AR E I BMAICO, (g)TK
A E, Bf12C0(2)+0,(g)=2C0,(g) AH=-566 k]*mol,

N2C0O,(g)=2CO0(g)+0,(g) LW ) AH=+566.0 k] *mol ', &
IRBAT 5 A s TER s W, iR 172 BR i 1 & A v o e g A
I mol S HLOM B S 1 #AFR A ANk, FR A DL
A1 mol WASH,O RFEAEN , ik LA UTER AT

I CH

B UHIEL20 )CL 101 kPa B, AR K B SAIK, 1 ¢ Hy

PRIGEAE KT 121 kJIRE, b= AR X, (g)+

1

- 0,(g)=,0(g) AH=-242 k]J*mol ™, IEIMDAFFA L,

5.C

R H( )0, o) WA BEH,0(g) , TR, A
AT 52 mol LA mol 0,516 54 mol 1.2 mol O
R E R bR, BT DAL BARF S
W R E BT AT, 2 mol Hy(g)FI1 mol O,(g) S/l
W2 mol 1L,O(g), ik H1484 kJPE , CAF R ; thE G

B4 mol H.2 mol OZERE2 mol H,0(g), MLk i1 852 kJ
e, DA S

6.D
2 7R 1 CO WIRRBEINA 283.0 kJ *mol ™52 mol CO

1 mol O, FLERBEE L 2 mol CO, BYERERF; 5C 2R 20 ¢
TR, A2 B AR AR AR S /K BB (R 3 KT 454.15 k.
7.B
R W@ EIK A,
PR S 4 BN
A R E Y CO 1 H, 5P
T ET N 22, I AH <0,

8.D
PR SO H B R i B AR 5 B ) Y T B R
Lt A8 Al (RS S A7 B AR R,y Bz ) 10 T
Ik, SRty &8a ke, WA
%f s fE B AT A IR SO TP A e ] LA o
FE T A A R B RE , B B X5 Al <O, U B SO BCER , T2 1 )
[P BE R = T A B B BB RL, R C X TR ISR AR
o, B T AR B D AR

9.A

T H, BIRABEIAA N
e IR T4 ) SR =,
SERRBEAE AR

AH~AH,; H
N AH>0;

R AT, MEART BEUB 1 s i ZE 2 I ik
MZ5 TR, BUE T IR, IR T S BG4k
BE, M (G 4k or FBOMTG o+ 8 0 8% £, S b 3R
bR, B A IERR;B I, ROt Eib S LA
2H,0,(1)=2H,0(1)+0,(g) AH.=-196.4 kJ-mol ', 7/~ &
A% 2 mol A AALE, B 196.4 k] HYFRE B B RiiR;C
I, JGIE R b A i K 2 AR R 2H,0(g) =
2H,(g)+0,(g)  AH,=483.6 kJ*mol™, iZ L RIS ),
HERER A ot

AH =566 k) mol™,321L,0(g)=21(g)+0,(g) All=

A, B C AR D T, D2C0.(g)=2C0 g )+
Og(g)

k(& 4 1 FHP{SEEZR

483.6 kJ *mol™, 1 (®-D)+2, 15 CO(g)+H,0(g)=
CO,(g)+H,(g), 48 35 W d 7 AH=(483.6 kJ *mol '
566 kJ mol ')+2=—41.2 k] mol ', # D B 1R
10.D

R A, MIstb v L, M X—Y KAL)
AH=FEFE,, 5 A 5515 B I, i BRG] AL, RO )Y s BE &
TR R ) BB I RN R TEIR , BIF X—Z b
%] AH<0, T B &% C 10, f1 EE T AL, 2X (2)—3Y () A
A, HEEULE] 3 mol Y BURERE—C L 2 mol X HYHE
g, MIABGHEYRIER Y MEEE—E L X e
g, T C AR D I, IR, Bony R A, Bir DL

i BRI HE R X—7Z W R B D 1B .
11.D
PR bR I, ATV %5 4 ARy, ROWA

AT UZE  THOAANAR , BIUAR D5 s R TP v S VPR 47

:2.02;COOH *+H *+H,0=COOH - +2H -+0OH -

e

(XH,0-=H-+OH")
(FUEFRXNEEISEER

1.D

3.C

R AR 1 mol WIRAM 5E A A IS E 1Y
AP BT B e B, TSKAN R TR E A9, it
AT SR s A R N A 51, BTLA0.5 mol N,
1.5 mol Ho 787 i il 19.3 kJ, W1 mol N,'53 mol HyJ%
I PR AR BB R TF38.6 kJ* mol ™, S I5 BANAF A5 A,
WA BRI SRS oL A AL B W AR B R SN 7K 22 Ui
1120.05 kJMERE, U1 mol RS B T3 h 32x20.05=

641.60(kJ) , Bt LABFAN G S8 A S0 B #5200 -
BEI

NLHLD42H,0,(D=Ny(2)+41H,0(g)  AH=6416 k] mol ™,
CATG AR ; COMMIABR IR ZTE T mol COSERIARE: BiAS E
A COL ) H MR E , HA2C0(2)+0,(g)=2C0,(g)
AH=-566 kJ*mol™, M2C0,(g)=2C0(g)+0,(g) S W HIAH=

+566.0 k] *mol !, IBNDAFF SR .
3.C
A A U HL,0 () A AR RS s B I rpr A e
R TR N, AH I R T AE ; D Ik o SR AR
4.D
B ATIH 1,0 (o) ABERERAE;B I A AR
SE 3 C I 1 mol MR Fll & S My NaOH J2 /1 B 2 mol
K, SHEESALT -
5.B
B H, (o) MEAEEIAE 285.8 k) mol 5 C T H /1 A
BaS0,(s) il EEIH R , AH<-57.3 k] *mol™; 0 45 7 A 2 iy =4

I A, 15 5] 3H,(g) +CO, (g) =CH,0H (1) +H,0 (1)

AH=-131.4 kJ*mol ',
6.B
PN AR B ] 5 B Rk RO TR L 2C0,(g) +

3NaOH (aq) =NaHCO; (aq) +Na,CO; (aq) +H,0 (1)  AH =

~4x k] mol '3CO, (g)+2NaOH (aq)=Na,CO; (aq)+I,0(1)
AH=—y kJ - mol ;s PAZCARD , 1545 8 o



02 (AL E ) 4]

7.B

R A T HO() A ZFRE A ;€ T NaOH [#]
A T K B B TR BV H R T 28.7 kI3 D AR
B CO(g) I IAEZ, Bl Al <AH .

8.A
R B I A 2 mol TERAFEALZ M U IRE KT
270 kJ;C T 0.5 mol N, Al 1.5 mol H, ANEES I 5E 4, Bl
ABEPRICTIY AH;D T 1 S5 ARG

9.D
BN o g LIRS BNV BEAR BB IR B IS
5.6 L, Mg o ZTEM 013 JE:0.5 mol. $2%520.5 mol L1
(&), B T AR SRR A K, BB #E 0 k],
JABE1 mol LWECRZS ), AR L — A A AR F 0K, TR
KE A20 k), SRR b2 A7 R K ECH0H (1)
+30,(g)=2C0,(2)+3H,0(1) AH=-20 kJ*mol™, i DIEF -

10.(1)Na,CO;" 2H,0(s)=Na,CO5(s)+2H,0(1)
AH=+70.8 kJ-mol™
(2)CH0H(1D+30,(g)=2C0,( g )+311L,0(1)

AH=-1 366.2 kJ*mol™!

7 : (1)DNa,COs* 10H,0 (s)=Na,CO,(s)+10H,0(g)

AH\=+532.36 kJ*mol”

@ Na,CO; *10H,0 (s) =Na,CO; *2H,0 (s) +8H,0 (g)
AH,=+373.6 k] mol !

@H,0(g)=H,0(1) AH:=—44 kJ*mol

1 ST AR D-2+3)5 5] :Na,CO,* 2H,0(s )=Na,CO4( s )
+2H,0(1)  AH=+70.8 kJ*mol™'s

(2 YBRFEIRIEFEAE 25 CC 101 kPa BF, 1 mol 41547 5¢
PRI L R E AR R RS . 1 g JTESE IR/
B CO, PR A KB 29.7 kI, T 1 mol ZFE( R & 446 ¢)
SEARABR A MU AE BB I BY N E Y 46%29.7 k)=
1 366.2 kJ, HIAGER AL 2= AR R CH0H(D+304(g )=
2C0,(g)+3H,0(1)

11.CH;OH(D+0,(g)=CO(g)+2H,0(1) AH=-4428 k] mol

AH=-1 366.2 kJ*mol '¢

_ o o o
RN Ji@ﬁ\bx; —EEK@X; + W R B)x2 15 -

CH;OH (1)+0,(g)=CO (g)+2H,0(1) AH=-442.8 k] *mol ',
12.CH(g)+1.0(g)=CO(g)+3H,(g) AH=+171.1 kJ 'mol™
R BRI B T R0 8 CO(g)+

él—Og(g):COg(g) AH=-282 kJ'mol‘KHg(_g)+é—Og(g):
H,0(g) AH=-241.8 kJ *mol '.CH,(g)+20,(g)=CO,(g)+
2H,0(g) AH=-836.3 kJ mol™; & )5 = AL I iE 45 -
CH,(&)+11,0(g)=CO(g)+31,(g) AH=+171.1 kJ*mol ',

(EEREEENA(1 )DSEER

1.B

R :A TP >AAH=AH W A—F,AH=-AH, & A
L8 ;B 0,6 4~ Al EFBAUIN, & A >A 18 AL VSFET 0,
BB A8 ; C T, F—C 19 AH=AH~+AH +AH,, W| C—F [¥]
AH=—(AH+AH,+AH,), 8 C IE® ;D W ,A—D Y AH=
AH +AHAAHL, D A 1Y AH=AH +AHA+AH,, 3 W24 %]
{ELATAE , AR5 AT S, B0 D IEA o

2.A

R ARSI ERO+@ A2 : Ti0,(s)+2CL(g)+
Cls, &3 )=TiCL(1)+CO,(g) AH=+140.5 kJ-mol '+

(=110.5 kJ*mol™)=+30.0 kJ * mol™, ikt A,
3.A

TR K7 R AR AR B AR ], B ) Th A S LRI
A& S WBEE &, HTRITTE IR Z , 578/, B AlL>AHL , )
A B 15 B.CO,- SO, PN TR A , D BT 5K OK R
WA R EEDTHE , T B 1EH; D.CO, 230 FRIZS R 0=C=0,
M2 R FaedMNZ R 8 HFRUES M, B ¢ IE#;D. @
2C0(g)+0,(g)=2C0,(g) AH,=-566.0 kJ *mol™, 2S(g)+

0,(g)=S0,(g) AH,=-296.0 k] mol™, 45 & T W e Fn] A,
Q-1 3 200 (g) +S0,(g) =S (g) +2C0,(g), H: AH =
(-566.0 kJ *mol™)—-(-296.0 kJ*mol™)=-270 kJ *mol ', ik
D 1E

4.A

5D 6.A
7B
BN : CHL (o) I FABEFA N -890 kJ *mol ', B CH,(g) +
20,(g)=CO,(g)+21L,0(1) AH=-890 kJ-mol '-
2 :(D2CH,(g)+0,(g)=2C0(g)+4H,(g)
AH=-71 kJ-mol '
@CO0(g)+2H,(g)=CH,0H(1) AH,=-90.5 kJ*mol™
BCH,(g)+20,(g)=CO,( g)+2H,0(1)
AH=-890 kJ*mol™
MR T i B, @x2-D)-@x2 #5450 : 2CH,0H (1) +

30,(g)=2C0,(g) +4H,0 (1)

AH =2 x(90.5 kJ *mol ) +2 x
(=890 kJmol ')+71 kJ+mol '=—1 528 kJ-mol ', IF LA
CH:OH (D RALEFR TR 764 kJ*mol ™, TIE B.

8.C

R AU AT L B AL+ S 0,(g)=)

2 f\]j()g( ) )

A=z kol @,mlJ@.+;—x.®+j—x@m%=

3MnO,(s)+4Al(s)=3Mn(s)+2AL0:(s), W AH =(q+

31—1)—;1—{? YkJ*mol s
0.D

RN M Eon 15 3 = 5 2 20 D2CH;0H (g) +
30,(g)=2C0,(g) +4H,0(1) AH,.22C0(g)+0,(g)=—
2C0g) AlLB211L(g)+0,(g)=—=211,0(1) AH.@CO(g)+
2H,(g)=CH;OH(g) AH,. A% #B & i B g, W
AH <0, ATUEE % ; % S e i, O=@+2xB-2x@), 8

AH =AH +2AH . -2AH ,, BIUEE R ; 1 Q-@, 113 CH0H (g)+

0,(g)—CO(2)+2H,0(1)  AH=AH—AH,, %S K 1)
AT, HTER N, Bt AMAH=AH,-AH <0 ,AH <
AH ., CIVE IR s i D+@x2, 1145 : 2C0(g)+4H,(g)+30,(g)
—2C0,(g)+41,0(1)  AH=AH +2AH,, % )2 Vi A COFIH,
) o B B B O 12 TR S AU B BABE B2 N, AH =AH  +
2AH <0, DITUIEH -

10.C

fR 7« FH Rl ] A TR BRI QD=0 [m) 4 # 5), ]
DCH,(g)+H,(g)=CH,(g)  AH<O, Q=11 ] £ 30,
M@2CH,(g)=CH,(g)+2H,(g)  AH>0, FEREZ ) 55 403
PEAL TR G5 B D&, R Is o i E A7,
H 2x(G)-@ ) n[ 15 : Hy(g)+CoHy(g)=CH,(g) AH=2((»-
03)k]J *mol <0, FL Q5>Q-; MR8 i M1 2 7, h12x(3-@) ) il
13 :2CH(g)=CH,(g)+2H,(g)  AH=2(Q—Q;)k]*mol >0,
W0 >05, 0,>0:>0,, LCITIET

11.+114

12.(1)®Ny(g)+3Hx(g)=2NHy(g) AH;=-92 kJ*mol"
Q#H ] ; i H 5 ROV FR A A RIZE s A4 G, 1

o (1)@ B w8 E N, () 5 H, (g) B AR
NH; (g) 89PN, (g)+3H, (g) —2NH;(g)
AH=-92 k]*mol'c @M H 5 RV R IR EMAE
Ao, M5 RN AR TE o, Br LR C T ) Fd 2T
S AT ] o

(M B, i (R [ S i T )+3, 43N, (g)+

a—C

0,(g)=2NO0(g) L\ngTkJ "mol s
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